
1 4056A015Stabiliser Link Rear L:59,5mm 26HY0511



1 54530 31600Ball Joint th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

 

10HY0500

1 MB315629Tie Rod End c:Ø13,45 th:FM14x1,5 RHT17HY1000

1 54530 31600Ball Joint th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 10HY0500



1

2
54530 31600 

MB350577 

Ball Joint Lower 

Axial Joint 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

th:MM17x1  L:289mm

10HY0500 

20MT0110 

1

2
54530 31600 

MB350577 

Ball Joint Lower 

Axial Joint 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

th:MM17x1  L:289mm 

 

10HY0500 

20MT0110 

1 54530 31600  Ball Joint Lower th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 10HY0500



1

2

3

MB176309 

MB176283 

MB378704 

Ball Joint Upper 

Ball Joint Lower 

Tie Rod End 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 do:Ø40,05 

th:M16x1.5 RHT  cp:1/8 cs:Ø19,5  

c:Ø12 th:MM14x1,5 LHT 

 

10MT0500 

10MT0501 

17MT0500 

1

2
MB176283 

MB378704 

Ball Joint Lower 

Tie Rod End 

th:M16x1.5 RHT  cp:1/8 cs:Ø19,5  

c:Ø12 th:MM14x1,5 LHT 

10MT0501 

17MT0500 



1

2

3

MB176309 

MB176283 

MB315629 

Ball Joint Upper 

Ball Joint Lower 

Tie Rod End 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 do:Ø40,05 

th:M16x1.5 RHT  cp:1/8 cs:Ø19,5  

c:Ø13,45 th:FM14x1,5 RHT 

 

10MT0500 

10MT0501 

17HY1000 

1 MB176309Ball Joint Upper th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 do:Ø40,05 10MT0500



1

2
MB527350 

MB527650 

Ball Joint Upper 

Tie Rod End 

th:M16x1.5 RHT  cp:1/8 cs:Ø17,75  

c:Ø13,7 th:FM14x1,5 RHT 

 

10MT0101 

17HY01 

1

2

3

4

MB527350 

MB527650 

MB350577 

MB532971 

Ball Joint Upper 

Tie Rod End 

Axial Joint 

Axial Joint 

th:M16x1.5 RHT  cp:1/8 cs:Ø17,75  

c:Ø13,7 th:FM14x1,5 RHT 

th:MM17x1  L:289mm 

th:MM16x1.5 RHT L:298mm 

10MT0101 

17HY01 

20MT0110 

20MT0101 



1

2

3

MR162699 

MR241623 

MR267873 

Ball Joint Lower 

Ball Joint Upper 

Stabiliser Link 

th:M16x1.5 RHT  cp:1/8 cs:Ø19,3  

th:M16x1.5 RHT  cp:1/8 cs:Ø17,75  

L:55mm  

 

10HY1500 

10MT0101 

26HY1500 

54530 31600Ball Joint th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 10HY05001



1 4056A015Stabiliser Link Rear L:59,5mm 26HY0511

1 MB176309Ball Joint Upper10MT0500

1

2
54530 31600 

MB350577 

Ball Joint Lower 

Axial Joint 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

th:MM17x1  L:289mm 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 do:Ø40,05

10HY0500 

20MT0110 



1 54530 31600Ball Joint th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 10HY0500

1 MB176309Ball Joint Upper th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 do:Ø40,05 10MT0500



1

2
MB527350 

MR267873 

Ball Joint Upper 

Link Stabiliser 

th:M16x1.5 RHT  cp:1/8 cs:Ø17,75  

L:55mm  

 

10MT0101 

26HY1500 

1 54530 31600Ball Joint10HY0500

1

2
54530 31600 

MB350577 

Ball Joint 

Axial Joint 
th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 10HY0500 

20MT0110 



1

2
54530 31600 

MB350577 

Ball Joint Lower 

Axial Joint 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

th:MM17x1  L:289mm 

10HY0500 

20MT0110 


